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Aufgaben-Quickname: 4787

Aufgabe 1
Berechne.

a) 21 4+ 179 = 200
d) 77 + 723 = 800
¢) 65 + 535 = 600
i) 37 + 663 = 700

Aufgabe 2

Berechne.

a) 708 + 3292 = 4000
¢) 103 -+ 4897 = 5000
¢) 585 -+ 5415 = 6000
¢) 621 + 3379 = 4000
) 634 + 1366 = 2000

Aufgabe 3

Berechne.
A)3+67T=70 1)2+48=50 ) 2+18 =20
H7+13=20 &7+23=30 £)5+85=90
$)1+49=50 h)4+66=70 {)6+64="70
Aufgabe 4
Berechne.

a) 300 4+ 5700 = 6000
¢) 500 + 1500 = 2000
¢) 700 + 300 = 1000

¢) 100 + 1900 = 2000
i) 500 + 2500 = 3000
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b) 75 + 25 = 100
¢) 49 + 51 = 100
h) 63 + 437 = 500

LOSUNG zu bsp-4787-1/TXVD

Arbeitsblatt

b) 638 + 2362 = 3000
d) 148 + 7852 = 8000
£) 268 + 4732 = 5000
h) 644 + 7356 = 3000
i) 827 4+ 7173 = 8000

b) 200 + 7800 = 8000
d) 400 + 7600 = 8000

f) 800 + 7200 = 8000

h) 200 + 6800 = 7000
j) 100 + 4900 = 5000
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¢) 47 + 753 = 800
£) 77 + 623 = 700
i) 85 + 615 = 700

i) 5+35 =40

bsp-4787-1/TXVD

Quic
4787

k

ick:

Quic
4787

Quic
4787

k:

ick:

Quic
4787



